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JeHaE f0Id S1edTash Hes, Hs
Mathematics Quiz Contest 2016-17
TfOTa APAHSIET TIET - R0%&-2\9
Written Test - Preliminary Round (ST T &T - uTaaes Hi)

Date : 02-10-2016

Maximum Marks : 50

Time : 1 hour Std. VI & VII
J%5 : 1 o g WEHUT T[0T : 50
Instructions  : 1)  Each question carries 2 Marks.

2 Answers should be written with Pen.

3) Cancelled and overwritten answer will be not considered.

4)  Answer should be written in box provided after each question.
AT : 1)  weres gy=TeT 2 TOT SEa.

2) et ymEn fergrea.

3)  wErEere anfor frcadet St fEEmoe Seet ot .

4) werss Avage feeear dtendta It foerata.

Name of the Student;
faameat=r 1 :

Mame of the School :
FE e AT

Code No. of the Group :
TETHT Hichiaeh thdieh -

1)
2)

Mobile No. :
HHUTEAT Th e :

In the adjoining figure which points are collinear ?

FITiter SATShdId ehiuTd T UshidiT AT ?

2. A wire 9m. 50cm. long is cut at 4 places to make equal parts.

What would be the length of each part ?
9 #Y. 50 Fedr. = AT 4 femmofht g o wue gHs et

% Uieh gehSaTe! oiiaT fehdl 7

3.  Volume of a cube is 80,00,000 c.cm. Find the side of the cube.
ST UShT UATS 9% 80,00,000 WL AW, 318 w9 =T 94Tl @] fahdr ?
4. ZACDis an exterior angle of AABC. If m£A = m4£B = 50°,

then find mZACD.

ZACD 2T AABC =IT STeIeh I 319, IT mZA = m£B = 50° @t mZLACD = ?

P.T.O.



10.

11.

12.

13.

14.

A principal, amounts to Rs. 18600 in 3 years and Rs. 21000 in 5 years with
the same rate of interest per annum. Find the principal and rate of interest
by simple interest.

TATT IO, UahT GEaATer 3 Fuf=t e 18600 . = 5 Faf< o
TS 21000 &. FAESITH § GEoT F ST 2T famelt 2

If a = -2 then find the value of 3 - Eaz +a°
TTa = -2 AV AT 3 - 63° + a° =it FEua viET,

" The sum of two numbers is 104. If the smaller number is %nf the other

then find the numbers.

1T dEEtEt ¥ 104 . S e gu=r SEd=r % AT
T HEAT SHI0TAT ?

Express 5kg. 8 decigram in kilograms.
5 feretr 8 e Ut fanet famer 2

State the number of prime divisors of 60.

60 ®IT HEEH fondl Yo deai=t |nT wrEr ?

From the following groups which group is in proportion ?

a) 12,8,4,6 b) 9,27, 3, 18

c) 21, 3, 46, 8 d 9 18, 6, 12

QAT ShI0TeT e TS U SR ?

a) 12,8, 4,6 b) 9,27, 3, 18

c) 21, 3, 46, 8 d 9 18, 6, 12

Solve : |r=ar : x° -y’ X . =7
X+Yy X -y

Average rate of 10 chairs is Rs. 3500. Out of them average rate of 6 chairs is Rs, 3200.

Cost of remaining chairs is same then find the cost of each chair.

10 =t woadt fohme 3500 . erge =it 6 weatsr aoad fhag

3200 %. 8. STereaT eat war fahndrear sraeary uees et fihna @ ?

X In the adjoining figure,
A XYZ is a right angled triangle.

Solve : dt=4T -
6.8x68 +136x72+72x7.2

(7.2)° - (6.8)

If ray YO and ray ZO are the angle bisectors
then find m£YOZ.

e AFAE, A XYZ BT Sh1eenr frantor e,
ferToT YO = fawtoT 20 ® =t goireren s,
AT LYOZ = | virer,




15.

16.

7.

18.

19.

20.

21.

22.

O LMNP is a rhombus. If | (LN)=12cm., | (MP)=16cm.
Then find the length of the side of the rhombus.

O LMNP &7 999 =teh i 3@t | (LN)=12cm. smfor
| (MP)=16cm. sTH&aTH

T WA Sieh=TeT Aoy R ?

GiventhatV = axy x byz x czx and a=1, b=1, ¢=0, x=3, y=1, z=-2

then find the value of V.

SRV =axy x byz x cxx3for a=1,b=1,¢=0,x=3,y=1,z=-2
V =it fehwe virar.

If the selling price of an article is decreased by Rs. 300 then there will be 15% loss

instead of 15% profit then find the cost price of the article.

ST UehT ST fasnt fahaa 300 suai=it sft srder 9t 15% Juamast
15% dIET AT ¢ = St @ia =t fehua =1 ?

In the multiplication of 3254 x 1689 which digit will come
in the tens place of the product.

3254 x 1689 FT UK SYTEHTEAT JATT ShITTAT Sich AZeT ?

v X line XY || line PQ
. = If YM and PM are the angle bisectors.
M then find ZYMP.
; Xy || t@TPQ. W YM smfoTPM B
P Q I GUTSE ST a7 LYMPgiar.

2 m
If 1_._.5_3 X 137 - 1 then find m.
13

13%x 137 < feirerer wive
—-_i'gr =1 dT m =

0 ABCD is a cyclic rectangle. i.e. each vertex of the rectangle is on a circle.

If the length of the rectangle is 12cm. and the breadth is 5cm.,,
then find the radius of the circle.

0 ABCD &7 =Ishla SITad 3TIg. UTSIE &7 AT JE fTrifig agerat s,
ST SrIart Sat 12 . & w4 5 W, 86T 9% = adaret e fandt 2

Using digits 3, 4, 5 and 6 once only, how many 4 digit numbers

can be formed; which are divisible by 11.

3, 4,5 Tfor 6 ¥ 3ich wam UahaTe SO 11 3 9T soT=aT

R T ST 991 grdter ?
(P.T.O.)




23 Two medians of A ABC, AD and BE, intersect
at point G. If | (BC) = 6cm,, | (AC) = 8cm.
| (GD + GE) = 5¢cm. Then find the perimeter of O EGDC.

AABC =T AD 1ifuT BE BIT 219 WET AGA 1 ThHeh &
G & féea s=ama. | (BC) = 6 3., | (AC) = 84T,
D =T | (GD + GE) = 5 &Y. 3/@er a¢ U EGDCEY uitfaet =hrart.

L

24. Perimeter of a square is 72cm. What should be the minimum and
maximum area of a rectangle having same perimeter, if the lengths
of the sides are integers.

wewT rcaT ufchd 72 Wt anE. A dadia ufifidt srmerean AT
FHAHE T ST ST A% fehdl ST ? (A=l ast guTiehTd 318.)

25 In a fraction the denominator is greater than its numerator by 3.
If the numerator is multiplied by 3 and denominator is increased by 20 then

the fraction becomes % then find the fraction.

uehT STquUTtaRTeT B waTAT styTaE 3 Y HieT AR, W sivT fawe e
B 20 I areden oF guiieatet fShaa !i B 9T T STguTich FIrET.
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